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= Average waiting time = 8.2
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Sched mUvg Algor ¢thms
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Scheduling Algorithms
(Multilevel Queue Scheduling)

A class of scheduling algorithms has been created for situations in which processes are
easily classified into different groups.

Example:

Foreground ey fove Background

Processes - Different response-time Processes
requirements

- Different scheduling needs

In addition, foreground processes may have priority (externally defined) over
background processes.

-Ruestlons

Scheduling_Algorithms
(Solved Problems)

Question: ° GATE 2001

Consider a set of n tasks with known runtimes ry, r2, .. r, to be run on a uniprocessor
machine. Which of the following processor scheduling algorithms will result in the
maximum throughput?

(a) Round-Robin

@ShorfesT—Job—FirsT > We fes [/LH~ the maxim um "\"V] o M—%\qb o
(c) Highest-Response-Ratio-Next o S S (& minimioe the aw e
(d) First-Come-First-Served . M{,\‘V\\g "HVYI@ WJ all o Mo =
PfOCESS +o Qom‘DI&Qe n o %\'OCY\
Yme  Frame

N

STUDENTS-HUB.com Uploaded By: Malak Dar Obaid




Which of the following scheduling algorithms is non-preemptive?

(a) Round-Robin \Dfee\m,\BRQQ
))D’{Firsr In First Out — WY —> @v\)u.%_\
(c) Multilevel Queue Scheduling of¢ee \(V\\'?*\“QQ oF WO

(d) Multilevel Queue Scheduling with Feedback ~

6reem‘>6\'g)& GUULQJ (Q/L(Dt/(

(\)[-'& stion: ° GATE 2010

Which of the following statements are true?

I. Shortest remaining time first scheduling may ccus@
-

II. Preemptive scheduling may cause starvation

III. Round Robin is better than FCFS in terms of response time
—_— Y

(a) I only
(b) I and III only

(¢) IT and III only

/z{I, ITand III
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Question: ° GATE 2012

Consider the 3 processes, P1, P2 and P3 shown in the table.
‘/_~’__—’f

Process | Arrival | Time Units
ID | Time | Requited
PL | 0 |5
P2 1 7
p3 ¥ | 3 |4
The completion order of the 3 processes under the policies FCFS and RR2 (round robin
scheduling with CPU quantum of 2 time units) are:

—_—

OF rcrs: p1, P2, P3 OF Fcrs: P1, P3, P2
RR2 P1,P2,P3 RR2: P1, P3, P2

G FcFs: P1, P2, P3 &) FCFS: P1, P3, P2

RR2: P1, P3, P2 RR2: P1,P2,P3
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GATE 2013

A scheduling algorithm assigns priority proportional to the \waiting tim¢ of a process.
. I E— ————————

Every process starts with priority zero ‘ The scheduler re~evo|uctes«

the process priorities every T time units and decides the next process to schedule. Which
ot Ml L el LLLLS
one of the following is TRUE if the processes have no I1/0 operations and all arrive at

time zero? PO - L

(a) This algorithm is equivalent to the first-come-first-serve algorithm.

4
This algorithm is equivalent to the round-robin algorithm.

(c) This algorithm is equivalent to the shortest-job-first algorithm.

(d) This algorithm is equivalent to the shortest-remaining-time-first algorithm.
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A computer system has 3 processes. Each process initially has a CPU burst, then an I/O burst, and then
another CPU burst, as shown in this table:

Process Priority Arrival Time | 1% CPU Burst 1/O Burst 2nd CPU Burst
P1 2 [ 4 1 4
P2 1 3 35— 3 53
P3 0 8 6 2 3
nigenP e pria 6 vy CT T T WT
l ‘ r J 26 4
6 5 2
Q2L . ©
\ A W\ @)
0 3 é + 8 4 16 1S 22 25
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A computer system has 3 processes. Each process initially has a CPU burst, then an I/O burst, and the‘
another CPU burst, as shown in this table:

Process Priority Aurrival Time 1st CPU Burst I/O Burst 2»d CPU Burst
P1 2 0 1 3 B
P2 1 3 3 3 5
P3 0 8 6 2 3

what is the average waiting time given SRTF scheduling?

STUDENTS-HUB.com

Uploaded By: Malak Dar Obaid




A computer system has 3 processes. Each process initially has a CPU burst, then an I/O burst, and the‘
another CPU burst, as shown in this table:

Process Priority Arrival Time | 1# CPU Burst 1/O Burst 2nd CPU Burst
P71 I T 4 3

P2 1 3 3 3

P3 0 8 6 2
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A computer system has 3 processes. Each process initially has a CPU burst, then an I/O burst, and then
another CPU burst, as shown in this table:

Process Priority Arrival Time 1st CPU Burst I/O Burst 2»d CPU Burst
P1 2 0 -4 3 4
P2 1 3 3 3 5
P3 0 8 6 2 3
CT TT g 2 266
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